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§1.2-§1.4 5h
"6aourlyvs �ebWBV(5h
"6a�gWF>x0Xs"�dLv
�y<
F5h
"6aK�5h
"\��eV(
<:
 (6a 10); V(BEF Cramer 0S�t| 1 � |A| �=9 n U5h
�{
|A| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 a12 · · · a1n
0 a22 · · · a2n
· · · · · · · · · · · ·
0 0 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

G |A| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 0 · · · 0
a21 a22 · · · 0
· · · · · · · · · · · ·
an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣S |A| = a11a22 · · ·ann(zb aii �% |A| "e-S0N).{q (1) |A| %��S5h
� n = 1 � |A| = a11 Vn�d�N�Vn-J
n−1U��S5h
�d�̂ m nU5h
 |A|. G*BY |A| = a11M11. .M11%
n− 1 U��S5h
�>>xN� M11 = a22a33 · · · ann, =. |A| = a11a22 · · · ann.

(2) |A|%+�S5h
�G*B�|A| = a11M11−a21M21+· · ·+(−1)n+1an1Mn1.- n− 1 U5h
 Mi1, i > 1, �%+�S5h
�{ Mi1 "e-SN_	H=9%j�=G>xN� Mi1 = 0, i > 1, - M11 G>xN� M11 = a22 · · · ann. ��
|A| = a11a22 · · · ann. 2t| 2 �5h
 |A| "w=5Gw=hN��%j�S |A| %j�{q >x0�� n = 1 ��Vn.��d�N�Vn- n− 1 U5h
�d�-� |A| b' i 5N��%j�S

|A| = a11M11 − a21M21 + · · ·+ (−1)n+1an1Mn1zb Mj1(j 6= i) b+H=5N��%j�=G>xN� Mj1 = 0, . ai1 = 0, =
ai1Mi1 = 0, �. |A| = 0.P� |A| b' i hN��%j�S� i = 1, .� |A| = 0. � i > 1, QT℄


|A| = a11M11 − a21M21 + · · ·+ (−1)n+1an1Mn1
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bo9 Mj1 +H=hN��%j�G>xN� Mj1 = 0, �� |A| = 0. 2t| 3 Q5h
 |A| "w=5Gw=h���� c ! 5h
 |B|, S |B| =

c|A|.{q >x0�� n = 1 ��Vn.��d�
(1) � |B| b' i 5"o9N�% |A| b' i 5o9N��� c, .z�5N�L |A| 1!�G*B
|B| = a11N11 − a21N21 + · · ·+ (−1)i+1cai1Ni1 + · · ·+ (−1)n+1an1Nn1zb Nr1 % |B| "' r 5'=h"Kh
�G�AI>xN�Y

Nr1 = cMr1, r 6= i, Ni1 = Mi1zb Mr1,Mi1 % |A| 1E"Kh
�G*BY |B| = c|A|.

(2) h"|4�� |B| "' 1 hN�+� |A| "' 1 hN�" c ��SQ |B|�*BT℄J!�� |B| "' i h (i > 1) N�� |A| "' i hN�" c ��
FT℄
I>x0J!� 2t| 4 -F5h
 |A| "�A�!"f5�S5h
"\7�5A ([-\��). {q - n F>x0�� n = 2 �� ∣

∣

∣

∣

a21 a22
a11 a12

∣

∣

∣

∣

= a12a21 − a11a22 = −(a11a22 −

a12a21) = −

∣

∣

∣

∣

a11 a12
a21 a22

∣

∣

∣

∣

, u��d��Vn- n− 1 U5h
�d�- n U|4�-X��|4 — -F5h
1if5�z\7�5A�� |B| G |A| -F'
r 5B' r+ 1 5! �L Nij % |B| "' i 5' j hN�"Kh
��*BT℄
|B| = a11N11−a21N21+· · ·+(−1)r+1ar+1,1Nr1+(−1)r+2ar1Nr+1,1+· · ·+(−1)n+1an1Nn1.� i 6= r, r + 1, G>xN� Ni1 = −Mi1. . Nr1 = Mr+1,1, Nr+1,1 = Mr,1, C�
|B| = −|A|./^m=
|4��2� |A| "' i 5L' j 5-F�{ j > i. -Q' i 5L' i+ 1 5-F�PL' i+ 2 5-F�=[ L' j 5-F��DPQ' j − 15Z?�,L1i5-F O`"' i 5'`�W;;-Fg 2(j − i)− 1 ��=�H |B| = −|A|. 2
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t| 5 �5h
 |A| "f51!�S |A| = 0.{q QWf5-F_! |A| = −|A|, �� |A| = 0. 2t| 6 � |A|,|B|,|C| ��9 n U5h
��q"' i 5' j hN�4ÆL%
aij , bij , cij , |A|, |B|, |C| "' r 5N��C P�

crj = arj + brj (j = 1, 2, · · · , n) (1).z�"N�1!�J cij = aij = bij(i 6= r, j = 1, 2, · · · , n), S
|C| = |A|+ |B|.{q - n F�9>x0� n = 1 ��.��d��Vn- n− 1 �d�

|C| = a11Q11 − a21Q21 + · · ·+ (−1)r+1(ar1 + br1)Qr1 + · · ·+ (−1)n+1an1Qn1zb Qij % |C|"Kh
�� i 6= r,S Qi1 ��C (1),G>xN� Qi1 = Mi1+Ni1,zb Mi1,Ni1 4Æ� |A|,|B| "Kh
�� i = r, S Qr1 = Mr1 = Nr1, O�K�JY |C| = |A|+ |B|. 2t| 7 Q5h
"=5��w�� c M k=5���5h
\���{q G6a 6, 6a 3, 6a 5 J!� 2t| 5′ �5h
 |A| "fh1!�S |A| = 0.{q � |A| "1!fh+3' 1 h�SQ |A| T℄�{G>x0J! |A| = 0.�2� |A| "' 1 hL' r h1!�� |A| "' 1 hN��% 0, S |A| = 0. =N� |A| "' 1 hN�_	H=3j�� as1 6= 0. -)' 1 5L' s 5�Y7� |A|5A�. −|A| = 0 JA&g |A| = 0. �2� a11 6= 0,|A| 4�
∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a11 · · ·
a21 · · · a21 · · ·
· · · · · · · · · · · ·
an1 · · · an1 · · ·

∣

∣

∣

∣

∣

∣

∣

∣Q |A| "' 1 5�� − ai1
a11
M ' i 5�� (i = 2, 3, · · · , n), !=35h
 |C|, 4�

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a11 · · ·
0 ∗ 0 ∗
· · · · · · · · · · · ·
0 ∗ 0 ∗

∣

∣

∣

∣

∣

∣

∣

∣
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G6a 7, |C| = |A|. Q |C| �*BT℄� |C| = a11Q11, . Q11 �=9H=h�%
0 " n− 1 U5h
�G6a 2,Q11 = 0, JH |C| = 0,∴ |A| = 0. 2t| 6

′

|A|,|B|,|C| ��9 n U5h
� |C| "' r hN�#J |A| "' r hN�L |B| "' r hN�ZB�
cir = air + bir (i = 1, 2, · · · , n).� j 6= r �� cij = aij = bij , S |C| = |A|+ |B|.{q � r = 1, G*BT℄ |C| J!�� r > 1, S |C| T℄%

|C| = a11Q11 − a21Q21 + · · ·+ (−1)n+1an1Qn1.o9 Qi1 G>xN�!�
Qi1 = Mi1 +Ni1zb Qi1,Mi1,Ni1 4Æ� |C|,|A|,|B| "Kh
���_! |C| = |A|+ |B|. 2t| 7

′ Q5h
"=h���� c M k=h��5h
\���{q 
F6a 6
′

, 6a 3 I6a 5
′ !X� 2t| 4

′ RF5h
"fh�5h
\7�5A�{q 0=��RF"fh��'=h�G>x0J!��' 1 hL' s hRFD"5h
% |B|, S
|B| =

∣

∣

∣

∣

∣

∣

∣

∣

a1s · · · a11 · · · a1n
a2s · · · a21 · · · a2n
· · · · · · · · · · · · · · ·
ans · · · an1 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

∣

∣

a1s − a11 · · · a11 · · · a1n
a2s − a21 · · · a21 · · · a2n

· · · · · · · · · · · · · · ·
ans − an1 · · · an1 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

∣

∣

a1s − a11 · · · a1s · · · a1n
a2s − a21 · · · a2s · · · a2n

· · · · · · · · · · · · · · ·
ans − an1 · · · ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

∣

∣

−a11 · · · a1s · · · a1n
−a21 · · · a2s · · · a2n
· · · · · · · · · · · · · · ·
−an1 · · · ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

= −

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1s · · · a1n
a21 · · · a2s · · · a2n
· · · · · · · · · · · · · · ·
an1 · · · ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

= −|A|
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20/�� |B| G |A| RF' r hI' s hD! �J
|A| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1r · · · a1s · · · a1n
a21 · · · a2r · · · a2s · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · anr · · · ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

|B| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1s · · · a1r · · · a1n
a21 · · · a2s · · · a2r · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · ans · · · anr · · · ann

∣

∣

∣

∣

∣

∣

∣

∣l
|C| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1r + a1s · · · a1r + a1s · · · a1n
a21 · · · a2r + a2s · · · a2r + a2s · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · anr + ans · · · anr + ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

=

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1r · · · a1r + a1s · · · a1n
a21 · · · a2r · · · a2r + a2s · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · anr · · · anr + ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

+

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1s · · · a1r + a1s · · · a1n
a21 · · · a2s · · · a2r + a2s · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · ans · · · anr + ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

= |A|+

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1r · · · a1r · · · a1n
a21 · · · a2r · · · a2r · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · anr · · · anr · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

+|B|+

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1s · · · a1s · · · a1n
a21 · · · a2s · · · a2s · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · ans · · · ans · · · ann

∣

∣

∣

∣

∣

∣

∣

∣� |A|,|B| ""f5h
\Hfh1!�5h
% 0, |C| "' r hL' s h1!�= |C| % 0. W;H |C| = |A|+ |B| = 0, J |A| = −|B|. 2t| 8 (5h
�' r h"T℄)

|A| = a1rA1r + a2rA2r + · · ·+ anrAnr
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zb Air % |A| "��Kh
�{q >�-F' r hB' r− 1 h�P-F r− 1 hB r− 2 h� · · ·, jD-F' 2 hB' 1 h�Z?W r − 1 �EFD�QO5hb' r hF_' 1 h�! 5h
 |B|,

|B| =

∣

∣

∣

∣

∣

∣

∣

∣

a1r a11 a12 · · · a1n
a2r a21 a22 · · · a2n
· · · · · · · · · · · · · · ·
anr an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣S
(−1)r−1|A| = |B| = a1rN11 − a2rN21 + · · ·+ (−1)n+1anrNn1

= a1rM1r − a2rM2r + · · ·+ (−1)n+ranrMnr= |A| = (−1)1+ra1rM1r+(−1)2+ra2rM2r+ · · ·+(−1)n+ranrMnr =a1rA1r+a2rA2r+

· · ·+ anrAnr, �r" Ni1, Mir 4Æ
Æ |B| I |A| "Kh
� 2xp 1

|A| =

∣

∣

∣

∣

∣

∣

∣

∣

0 0 · · · 0 a1s 0 · · · 0
a21 a22 · · · a2s−1 a2s a2s+1 · · · a2n
· · · · · · · · · · · · · · · · · · · · · · · ·
an1 an2 · · · ans−1 ans ans+1 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

= a1sA1s.{q |A| �' s hT℄� |A| = a1sA1s + a2sA2s + · · ·+ ansAns, . Ais(i > 1)+H=h�% 0, =�% 0. �� |A| = a1sA1s. 2xp 2� |A| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 a12 · · · a1n
a21 a22 · · · a2n
· · · · · · · · · · · ·
an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

, S |A| = a11A11+a12A12+ · · ·+a1nA1n.{q G6a 6
′ IDb 1,

|A| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 0 · · · 0
a21 a22 · · · a2n
· · · · · · · · · · · ·
an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

+

∣

∣

∣

∣

∣

∣

∣

∣

0 a12 · · · 0
a21 a22 · · · a2n
· · · · · · · · · · · ·
an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

+ · · ·+

∣

∣

∣

∣

∣

∣

∣

∣

0 0 · · · a1n
a21 a22 · · · a2n
· · · · · · · · · · · ·
an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

= a11A11 + a12A12 + · · ·+ a1nA1n

2t| 8 �|A| = ai1Ai1 + ai2Ai2 + · · ·+ ainAin.
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{q GDb 2 I6a 4, Ga�Xs6a 8 "10J!� 2mw � |A| ���5h
�l |A
′

| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 a21 · · · an1
a12 a22 · · · an2
· · · · · · · · · · · ·
a1n a2n · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

. S |A
′

| �% |A|"f`�t| 9 5h
f`D\���J |A
′

| = |A|.{q -5h
UF>x0�� n = 1 .��d�� Mij ,Nij 4Æ% |A| I |A
′

|"Kh
�S Nij #J Mji "f`�G>xN� Nij = Mji, Q |A
′

| �' 1 5T℄
|A

′

| = a11N11 − a21N12 + · · ·+ (−1)n+1an1N1n

= a11M11 − a21M21 + · · ·+ (−1)n+1an1Mn1 = |A|. 2t| 10 � |A| � n U5h
�' i 5' j hN� aij "��Kh
L% Aij ,S-�A" r, 1 ≤ r ≤ n, HT℄
���
a1rA1r + a2rA2r + · · ·+ anrAnr = |A|;

a1rA1s + a2rA2s + · · ·+ anrAns = 0; s 6= r;

ar1Ar1 + ar2Ar2 + · · ·+ arnArn = |A|;

ar1As1 + ar2As2 + · · ·+ arnAsn = 0; s 6= r.{q ^7Xs'/9Vn�HJ |A| R=35h

rh sh

|B| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 · · · a1r · · · a1r · · · a1n
a21 · · · a2r · · · a2r · · · a2n
· · · · · · · · · · · · · · · · · · · · ·
an1 · · · anr · · · anr · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

= 0Q |B| �' s hT℄�JH a1rA1s + a2rA2s + · · ·+ anrAns = 0. 2jDX
 Cramer 0S�
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^m n N061�i














a11x1 + a12x2 + · · ·+ a1nxn = b1
a21x1 + a22x2 + · · ·+ a2nxn = b2

· · ·
an1x1 + an2x2 + · · ·+ annxn = bn

(2)�z*�i�"5h
 |A| %
|A| =

∣

∣

∣

∣

∣

∣

∣

∣

a11 a12 · · · a1n
a21 a22 · · · a2n
· · · · · · · · · · · ·
an1 an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣�1�iHW ξ1, ξ2, · · · , ξn, ~' 1 h"��Kh
 A11, A21, · · · , An1, Q A11 ��
(1) "' 1 
� A21 �� (1) "' 2 
� · · ·, An1 �� (1) "' n 
�!















a11A11ξ1 + a12A11ξ2 + · · ·+ a1nA11ξn = b1A11

a21A21ξ1 + a22A21ξ2 + · · ·+ a2nA21ξn = b2A21

· · ·
an1An1ξ1 + an2An1ξ2 + · · ·+ annAn1ξn = bnAn1

(3)	�r"1�
1M! (a11A11+a21A21+ · · ·+an1An1)ξ1+(a12A11+a22A21+ · · ·+

an2An1)ξ2+ · · ·+(a1nA11+a2nA21+ · · ·+annAn1)ξn = b1A11+ b2A21+ · · ·+ bnAn1.G6a 10 Y�
%
|A|ξ1 =

∣

∣

∣

∣

∣

∣

∣

∣

b1 a12 · · · a1n
b2 a22 · · · a2n
· · · · · · · · · · · ·
bn an2 · · · ann

∣

∣

∣

∣

∣

∣

∣

∣

,L�r"I
% A1. � |A| 6= 0,Sξ1 =
A1

|A|
.a�%_�! ξj =

Aj

|A|
, 2 ≤ j ≤ n, zb Aj �=9 n U5h
��G |A| �(' j hF�G1�i��2 b1, b2, · · · , bni�"h! �mp (Cramer nz) �H n N061�i















a11x1 + a12x2 + · · ·+ a1nxn = b1
a21x1 + a22x2 + · · ·+ a2nxn = b2

· · ·
an1x1 + an2x2 + · · ·+ annxn = bn
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�W91�i"*�5h
 |A| "\�#J 0, S1�iH$=W
x1 =

A1

|A|
, x2 =

A2

|A|
, · · · , xn =

An

|A|
(∗)zb Aj �=9 nU5h
��G |A|�(' j hF�G1�i��2 b1, b2, · · · , bni�"h! �} *b��9Vn�� |A| 6= 0 �� (1) 1�iHW� (2) W$=� (3) W_G (*) 
Æ�{q Q (*) �� (2), 
F6a 10 !

a11
A1

|A|
+ a12

A2

|A|
+ · · ·+ a1n

An

|A|

= 1

|A|
(a11A1 + a12A2 + · · ·+ a1nAn)

= 1

|A|
[a11(b1A11 + b2A21 + · · ·+ bnAn1) + a12(b1A12 + b2A22 + · · ·+ bnAn2)

+ · · ·+ a1n(b1A1n + b2A2n + · · ·+ bnAnn)]

= 1

|A|
[b1(a11A11 + a12A12 + · · ·+ a1nA1n) + b2(a11A21 + a12A22 + · · ·+ a1nA2n)

+ · · ·+ bn(a11An1 + a12An2 + · · ·+ a1nAnn)]

= 1

|A|
b1|A| = b1.a�_!� xi =

Ai

|A|
, 1 ≤ i ≤ n, �O1�i"W��{�$=W� 2e)�

P11 1(1), 3(1), 5(1);

P22 1(1), 4(1);

P25 3, 4;

P45 (6)�) 1�^�� P45 4− 108k��?Y |A| =

∣

∣

∣

∣

∣

∣

27 30 45
−20 −30 97
−47 30 100

∣

∣

∣

∣

∣

∣

, �} M11 +M21 +M31 "\�
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